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6EFDOE=<F5 5GFO?>G 2-3 D474 < E?5=F5 6EN 6>4G.

'44?5=<5 E>54<=5=<= >4?LF<O

�D< <=>7>>D4F=>< <E?>?L7>64=<< <>7GF =4>4??<64FLEO E>54<=5=<O 
>4?LF<O (=4FD<=, <<=5D4?O) =4 75=5D4F>D5 6>4>D>44.

- 74?>?=<F5 5GFO?>G 6>4>= 250 <? < ?<<>==>= ><E?>F>= 5 7.,  
< E>54<=<F5 5GFO?>G E ?D<5>D>< < >EF46LF5 57> =4 1 G4E.

'4EF>F4 >G<EF>< 746<E<F >F <<=5D4?<74F<< <E?>?L7G5<>= 6>4O.

�G<EF>4 >F 74?4E4

�D< <=>7>>D4F=>< <E?>?L7>64=<< 75=5D4F>D 6>4>D>44 <>65F =4G4FL 

=5?D<OF=> ?4E=GFL.

�4?>?=<F5 6>4>= E ?<<>==>= ><E?>F>= (50 7D44GE>6) ?D>75=5D<DG=F5 2 D474. 

'44?<F5 6>4G. �4?4E =5 6?<O5F =4 >5D47>64=<5 6>4>D>44 < 6>GE 6>4O.

�F>D>=F5 4D5=46=GN 747?GL>G < G44?<F5 >FD45>F4==GN 6>4G.
��������!
�75574=F5 ?>?444=<O >FD45>F4==>= 6>4O 6 >E=>6=>= >>D?GE ?D< 
G44?5=<< 6>4O, >>744 D47<5M45F5 ?D<5>D 665DE 4=><.

1

3

2

�<>>744 =5 <>=F5 ?D<5>D ?>4 =4?>D>< 6>4O < =5 ?>7DG64=F5 ?D<5>D 6 6>4G.

��������
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�G�%&�4 �$�5�$4

�$���$�4 %����������� ���LF4

%$4����� �$�5�$4

" �>>GD4F=> ?D>FD<F5 >>D?GE <O7><< ?>?>F5=F5<.
- ?D<5>D 4>?65= >EF464FLEO EGE<< ?>E?5 >G<EF><.

" �G<EF<F5 75=5D4F>D 6>4>D>44 <O7>>= F>4=LN <?< 7G5>>=.
- >>744 7DO7L =5 G44?O5FEO, E>54<=<F5 ?D<5>D E 5GFO?>>= 

4?O 6>4O, 74?>?=5==>= =4?>?>6<=G, < ?>FDOE<F5 
=5E>>?L>> D47. �>E?5 >G<EF>< 6=GFD5==5= G4EF< ?D<5>D4 
=5<54?5==> E?5=F5 6>4G.

" �D>65DLF5 ?D>7D4G=>5 E<?<>>=>6>5 >>?LF> =4 5GFO?>5. ����&�$

" �>64?G=EF4, 5G4LF5 >EF>D>6=O, ?>E>>?L>G E<?<>>=>6>5 >>?LF> 
<>65F 5OFL >F45?5=> >F 444?F5D4 ?D< >F45?5=<< 5GFO?><.
- 6 E?GG45 >F45?5=<O E<?<>>=>6>7> >>?LF4 ?>?>6<F5 E<?<>>=>6>5 

>>?LF> =4 444?F5D < E?57>4 =46<<F5.

" �DOL>4 4>?6=4 5OFL 74>DOF4 5E?< ?D<5>D =5 <E?>?L7G5FEO.

" �<F4=<5 <>65F 6>?NG<FLEO ?D< =5?D><76>?L=>< =464F<< >=>?>< 6>?NG5=<O ?<F4=<O.

" �5 ED4=<F5 ?D>4G>F >>>?> =47D564F5?L=>7> ?D<5>D4 <?< ?D< F5<?5D4FGD5 =<65 0°%.

�>?<G5EF6> 6OD454FO645<>7> 6>4>D>44 746<E<F >F <<=5D4?<74F<< 6>4O,  
4 F4>65 >F 55 F5<?5D4FGDO. $5>><5=4G5<4O F5<?5D4FGDO 6>4O 25340 °%.

��������
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�D>65D>4 ?5D54 >5D4M5=<5< 6 E5D6<E

&5E=<G5E><5 E4D4>F5D<EF<><

�5D54 >5D4M5=<5< 6 D57<>=4?L=O= E5D6<E=O= F5=FD 6O?>?=<F5 E?54GNM<5 ?D>65D><.

&5E=<G5E><5 E4D4>F5D<EF<>< %6545=<O

�4<<5=>64=<5 <>45?</
=4<<5=>64=<5 ?D>4G>F4

HM-1000/�>DF4F<6=O= 75=5D4F>D 6>4>D>44

-?5>FD>4O �?4EF<=O ??4F<=4, F<F4=

�>FD55?O5<4O <>M=>EFL 10 �F

$47<5D (, x � x �) 72 x 104 x 72 (<<)

�5E 274 7 (�E=>6=>= >>D?GE)

�44?F5D ?<F4=<O �E>4: AC 100 ~ 240�, �OE>4: DC 8,4 �

�D5<O 75=5D4F<< 6>4>D>44 3 <<=GFO/5 <<=GF

�D5<O 74DO4>< 90 <<=GF (<>65F <E?>?L7>64FLEO 8-10 D47 ?D< ?>?=>= 74DO4>5)

%���&�� �$���$�� '&� ����&,

�5=5D4F>D 
6>4>D>44 =5 
D45>F45F

" �E?< 74DO65= 
" �E?< OG5=>4 747DO7=5=4

" �4DO4<F5 ?D<5>D 
" �G<EF<F5 >E=>6=>= >>D?GE, 

E<. EFD. 11 «�G<EF>4 ?D<5>D4»

%65F><=4<>4F>D 
=5 D45>F45F

" �E?< 74DO65= " �4DO4<F5 ?D<5>D

�D<5>D =5 
74DO65=

" �E?< 74DO4=>5 GEFD>=EF6> 
?D46<?L=> ?>4>?NG5=>

" �D46<?L=> ?>4>?NG<F5 >>D?GE ?D<5>D4 < 
74DO4=>5 GEFD>=EF6>
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�4D4=F<==O5 GE?>6<O

1. �4==O= ?D<5>D >5?4445F 74D4=F<5= 6 F5G5=<5 G>474==>7> 74D4=F<==>7> ED>>4 6 

>F=>L5=<< 45D5>F>6 >4G5EF64 < <4F5D<4?>6 ?D< =>D<4?L=>< <E?>?L7>64=<<. �D><5 

F>7>, >F65FEF65==>EFL <77>F>6<F5?O >7D4=<G<645FEO D5<>=F>< < 74<5=>= ?D>4G>F4 ?D< 

GE?>6<OE, G>474==OE 6 =4EF>OM5= 74D4=F<<.

2. �4D4=F<==O= ED>> E>EF46?O5F 1 7>4 E> 4=O ?>>G?>< ?D>4G>F4.

3. �4D4=F<==O= ED>> E>EF46?O5F 1 7>4 E> 4=O ?>>G?>< 4?O ?5D6>=4G4?L=>7> 45D5>F4 < E5>56 

?D< <E?>?L7>64=<<, >4> G>474=> 6 DG>>6>4EF65 ?> M>E??G4F4F<<, D5<>=FG/>5<5=G 6 

E>>F65FEF6<< E =4EF>OM<<< GE?>6<O<< 74D4=F<<.

4. � >6<F4=F<< 4>?6=4 EF>OFL ?>4?<EL ?D>446F4 =4 74D4=F<<.

5. �?O 55E??4F=>7> D5<>=F4 6 F5G5=<5 74D4=F<==>7> ED>>4:

- ?D<=5E<F5 E6>= ?D<5>D 6<5EF5 E 74D4=F<==O< E5DF<D<>4F>< FG44, 745 �O 57> 

?D<>5D5?<, GF>5O ?>?GG<FL E>>F65FEF6GNM55 >5E?G6<64=<5

- �4<5=4 =5 ?D54?4745FEO ?D< D5<>=F5.

- �>6D5645=<O, 6>7=<>L<5 6 D57G?LF4F5 <E?>?L7>64=<O/=56>7<>6=>EF< 

<E?>?L7>64=<O 44==>7> ?D<5>D4 (G?GM5==4O 6O7>44, ?D5>D4M5=<5 5<7=5E4, G5OF><, 

E6O74==O5 E =5<E?>?=5=<5< <=EFDG>F<= <?< =5?D46<?L=O< <E?>?L7>64=<5< 44==>7> 

?D>4G>F4, < 4DG7>= D<=4=E>6O= GM5D5), =5 5G4GF 6>7<5M5=O.

- �E?< 6O E>F<F5 >FD5<>=F<D>64FL 44==O= ?D<5>D, F> >F?D46?O=F5 57> 6<5EF5 E 

74D4=F<==O< E5DF<D<>4F><.

6. �5E<>FDO =4 74D4=F<==O= ED>>, 74D4=F<O =5 ?D<<5=O5FEO ?D<:

- D475>D>5 ?D<5>D4 <?< ?>?OF>4E 57> D475>D><

- �5E>5?N45=<5 <?< ?>6D5645=<5 ?D><7>L?< <7-74 ?5D5<5M5=<O, 4>EF46>< <?< 

?445=<O ?>E?5 ?>>G?>< (?D<<5=O5FEO ?> ?D<5OF<< ?D< ?>>G?>5 6 �=F5D=5F5); <?< <7-

74 ?>64D4, 75<?5FDOE5=<O, =46>4=5=<O, E<?L=>7> E=574, EF<E<==>7> 554EF6<O < F.4.; 

<?< >>744 74D4=F<==O= E5DF<D<>4F =5 >F?D46?5=.

- � 74D4=F<< =5F ?<EL<5==>= 44FO, <<5=< >?<5=F4 <?< ?>EF46M<>4; <?< >6<F4=F<O =5 

?D<?4745FEO.

�>E>>?L>G 44==4O 74D4=F<O =5 <>65F 5OFL ?>6F>D=> 6O?GM5=4, ED4=<F5 55 6 

557>?4E=>EF<. �D><5 F>7>, 74D4=F<==O5 ?>?>65=<O <>7GF 5OFL <7<5=5=O 557 

?D5464D<F5?L=>7> G654><?5=<O.

�4D4=F<O >55M45F 55E??4F=O= D5<>=F < >5<5= ?D>4G>F<< 6 F5G5=<5 G>474==>7> 

?5D<>44 6D5<5=< E>7?4E=> >?D545?5==OE GE?>6<=.

�4EF>OM4O 74D4=F<O =5 >7D4=<G<645F �4L< 74>>==O5 ?D464. �?O ?>?GG5=<O 

>5E?G6<64=<O ?>E?5 74D4=F<==>7> ED>>4 >5D4F<F5EL 6 <4747<=, 745 6O ?D<>5D5F4?< 

?D<5>D.

13



74<5F><

14



�4D4=F<O

�4<<5=>64=<5 
?D>4G>F4

�>DF4F<6=O= 75=5D4F>D 
6>4O, >5>74M5==>= 

6>4>D>4><
�4764=<5 <>45?< HM-1000

%5D<==O= 7

�<O >?<5=F4 &5?5D>=

�4D5E

�D>4465F &5?5D>=

�4D5E

�4F4 ?D<>5D5F5=<O

1. �4==O= ?D>4G>F ?D>L5? 65EF><= >>=FD>?L >4G5EF64.

2. � F5G5=<5 74D4=F<==>7> ?5D<>44 >5E?G6<64=<5 ?D54>EF46?O5FEO 55E??4F=>.

3. � E?GG45 E5>O >5D4F<F5EL 6 D57<>=4?L=O= E5D6<E=O= F5=FD.

4. �>7L<<F5 E E>5>= 74D4=F<N 4?O ?>?GG5=<O >5E?G6<64=<O.

5. �4?>?=<F5 ?D>55?O ?D< ?>>G?>5 ?D<5>D4.

�4D4=F<O

1. �4==O= ?D<5>D >5?4445F 74D4=F<5= 6 F5G5=<5 G>474==>7> 74D4=F<==>7> ED>>4 

6 >F=>L5=<< 45D5>F>6 >4G5EF64 < <4F5D<4?>6 ?D< =>D<4?L=>< <E?>?L7>64=<<.

2. � E?GG4OE, ?D<6545==OE =<65, ??4F4 74 >5E?G6<64=<5 <>65F 67<<4FLEO 4465 6 F5G5=<5 

74D4=F<==>7> ?5D<>44:

A. %5>=, 6O764==O= >L<5>>= >?<5=F4.

B. �5<E?D46=>EFL 6 D57G?LF4F5 EF<E<==OE 554EF6<=.

C. %5>=, 6O764==O= D5<>=F>< <?< 74<5=>= ?D<5>D4 557 >D<F<4?L=>7> D47D5L5=<O.

D. �E?< 74D4=F<O =5 ?D54?4745FEO <?< =5 G>474=4.

3. �?4F4 74 >5E?G6<64=<5 67O<45FEO ?>E?5 <EF5G5=<O 74D4=F<==>7> ED>>4.

15



HM-1000 ?D>L5? <E?OF4=<O 6 O?>=E>>= 4EE>F<4F<< 6>4>D>4=>= 6>4O

%45?4=> 6 �>D55


